Wiertarka udarowa
PRCm 13GEO, PRCm 13IEO



<¢>|Celma

Wiertarka udarowa PRCm 13GEO, PRCm 13IEO

Poz. |Nazwa czesci Szt/Wyréb
1 WKRET M6X25 LEWY 1
2 UCHWYT WIERTARSKI 13 1
3 PIERSCIEN OSADCZY SPREZYNUJACY W32 1
4 OStONA PRZECIWPYLOWA 1
5 WRZECIONO 1
6 KOLEK 4X6 1
7 USZCZELKA 29,5/17X2 1
8 £ OZYSKO 6002 2Z 1
9 PODKEADKA ELASTYCZNA 15 1
10  |WKRET DO TWORZYW 4,8X45 2
11  |WKRET DO TWORZYW 4,8X40 2
12 KORPUS GLOWICY 1
13 PRZE+ACZNIK RODZAJU PRACY 1
14  |WKRET Z PODKLADKA 2,5X6 2
15 PLYTKA PRZELACZNIKA 1
16 POKRYWKA PRZESUWKI 1
17 PRZESUWKA 1
18 KOLO ZEBATE 1
19 PODKEADKA SPREZYSTA 10,6X1 1
20 SPREZYNA 1
21 PODKEADKA ELASTYCZNA 1
22  |TARCZA ZAPADKOWA 1
23 £ OZYSKO 698 27 1
24  |KORPUS PRZEKLADNI 1
25 USZCZELKA 19,5/8X2 1
26 £ OZYSKO 609 2RS 1
27  |WIRNIK 1
28 |ODRZUTNIK 1
29 PRZESLONA 1
30 |WKRET DO TWORZYW 4X65 2
31 |STOJAN 1
32 £ OZYSKO 607 2Z 1
33 KAPTUR £OZYSKA 1
34  |KORPUS SILNIKA 1
36 PRZEKLADKA 2
37 |SZCZOTKA 2
38 |SZCZOTKOTRZYMACZ 2
39 SPREZYNA SPIRALNA 2




40 REKOJESC LEWA 1
42  |DEAWIK 1
43  |WKRET DO TWORZYW 3X12 4
44  |LACZNIK 1
45 |KONEDENSATOR 1
46  |ODGIETKA 1
47  |ODCIAZKA 1
48 |WKRET DO TWORZYW 4X14 3
49  |PRZEWOD PRZYtLACZENIOWY 1
50 |WKRET DO TWORZYW 4X30 2
51 REKOJESC PRAWA 1
52 |WKRET DO TWORZYW 4X16 3
601 |ZDERZAK 1
602 |REKOJESC DODATKOWA 1

1

603

KLUCZ DO UCHWYTU WIERTARSKIEGO




